WASHER 18x38 776

PIN #16x60 2692

PIN A 4x25 791

PIN #12x45 789
EXTENSION LINK LS 622 BIS
NUT M12 3288
SPRING WASHER A 13 4430
WASHER 14x24 787
U-BOLT M12x70 709
KEEPER LS 5167 R
CLAMP LS 5162 BIS R

DESCRIPTION N* DRG.

Q) PN
|-

o.r.l. GORLA | U-BOLT TENSION CLAMP
FOR ACSR, AAC AND AAAC Rev.1 dated 14.99.06
MOE?EQ&ERIE CONDUCTORS 2 7- 11 mm

R = 30008 KG
MATERIAL TECHNICAL OFFICE ore. N.LS 5162 R

1 FORMATO A3(297x428)-UNI 936 8 1 2 3 4 s

NW|dUI|O |\ |00 |W

[N

ﬁzb—‘b—\wmhhb—\b—\wp_\p_\

e 8 S 18cm.
f L 1 |




SECTION Y-Y

| | Material: Hot dip galvanized steel.

CR [kNI

X B C D E
60

LS 2511 24 - - - - -
LS 2511MB 24 - - - - 60
s ztm % N : @ s.r.1. BORLA TENSION CLAMPS T e
MORSETTERIE WITH 3 U-BOLTS FOR
MILANO ACSR, AAC and AAAC CONDUCTORS
TECHNICAL OFFICE ¢ 6 B 16'5 mm DRG. N. 9T41/91/X
FORMATO A3(297x420)-UNI 3936 8 6 7 8 9 18cm.

APPROVED DATE

1 2 3 4 S
h n 1 ! 1




PIN #16x60 2692
WASHER 18x30 776

PIN A 4x25 791

PIN #12x45 789
EXTENSION LINK LS 622 BIS
NUT M12 3288
SPRING WASHER A 13 4430
WASHER 14x24 787
U-BOLT M12x80 3828
KEEPER LS 5128
CLAMP LS 63@3 BIS

ITEM DESCRIPTION N* DRG. MATERIAL TECHNICAL OFFICE DRG. N. LS 6389

1 FORMATO A3(297x428)-UNI 936 @ + 2 3 4 s & 7 8 3 deem.

Q) PN
|-

o.r.1. GORLA | U-BOLT TENSION CLAMP

MORSETTERIE FOR ACSR, ARC AND ARAC Reu.1 dated 14.89.96
MILANO CONDUCTORS # 10 - 16 mm

BREAKING LOAD 58 kN

NW|dUI|O |\ |00 |W

[N

ﬁz'—‘l\JhLOCDCOD—\D—\I\Jp—\._\




